Math 104    
Test 1 (Chapters 1 – 3)
Spring 2007
Name_____________________________

Always show enough work to show how you arrived at your answer.  If work is not shown, you may not earn full credit for the problem.

1.
Hot coffee is poured into a cup at room temperature.  Let F represent the temperature of the coffee t minutes after the coffee was poured.  Sketch a qualitative graph that shows the relationship between the variables.  
(4 pts.)

2.
Let 
[image: image1.wmf]1.54

yx

=-

.


a.
What is the slope of this line? _______
(2 pts.)


b.
What is the y – intercept? _______
(2 pts.)


c.
Sketch the graph.
(4 pts.)


d.
What is the slope of a line parallel to this line? _______
(2 pts.)


e.
What is the slope of a line perpendicular to this line? _______
(2 pts.)

3.
Find the x-intercept for the line 
[image: image2.wmf]253(1)4

yx

+=+-

.
(4 pts.)

x-intercept = _____________

4.
Use interval notation for the inequality 
[image: image3.wmf]3

x

£

.
(3 pts.)

[26]

5.
Some values for a linear equation are provided in the table.  Complete the table.
(6 pts) 

	x
	y

	0
	

	1
	

	2
	2

	3
	

	4
	

	5
	14


6.
Give the equation for each of these lines.
(3 points each)



____________________
___________________
___________________

7.
a.
Explain why the graph shown is the graph of a function.
(3 pts.)



Let this be the graph of the function 
[image: image4.wmf]()

yfx

=

.  Find the following.
(2 points each)


b.

[image: image5.wmf](0)

f

 = ________


c.
a value of x such that 
[image: image6.wmf]()2

fx

=

  _______

8.
Let 
[image: image7.wmf]()2.510

gxx

=-+

.  Find the following.
(2 points each)


a.

[image: image8.wmf](0)

g

 = __________


b.

[image: image9.wmf](8.4)

g

-

 = __________
[26]

9.
The table lists the number of collisions (in thousands) at highway-railroad crossings per year.  Let N represent the number of collisions (in thousands) for the year that is t years since 1980.   


a.
Create a scattergram for the data.
(4 pts.)

	Year
	N number of collisions 

(in thousands)

	1988
	6.6

	1990
	5.8

	1992
	5.0

	1994
	5.0

	1996
	4.3

	1998
	3.5






b.
Sketch a line that comes close to the data points.  Use your line to estimate the number of collisions in 1980.
(4 pts.)


c.
Find an equation of a linear model for the data.
(6 pts.)


d.
Use your equation to estimate the number of collisions in 2006.
(4 pts.)


e.
Use your equation to estimate the year when there were 3000 collisions.
(4 pts.)

[22]

10.
USave Car Rental Company charges a flat daily fee of $40 plus $0.20 per mile for a pickup truck rental.  Let 
[image: image10.wmf]()

Cx

 represent the daily cost (in dollars) of renting a pickup truck that is driven x miles.


a.
Find the slope of the function 
[image: image11.wmf]()

Cx

.  What does it represent in terms of the rental cost?
(4 pts.)


b.
Find an equation for 
[image: image12.wmf]()

Cx

.
(4 pts.)

11.
Solve this system by graphing.  Write your solution as an ordered pair.
(6 pts.)



[image: image13.wmf]1
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=-

 
.





[image: image14.wmf]2
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_________________________







  (ordered pair)

12.
Solve the system.  Write your solution as an ordered pair.
(6 pts.)



[image: image15.wmf]3212
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[image: image16.wmf]427
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=-


_________________________







  (ordered pair)

13.

Solve the inequality.  
[image: image17.wmf]2(3.1)4.75.9

xx
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(6 pts.)

[26]
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